

Y	X ₂	X ₃
3	3	5
1	1	4
8	5	6
3	2	4
5	4	6

: 0.05 " t .1

$$1 \times k \quad R \quad \frac{c'b - (c'S)_{H_0}}{\sqrt{S^2 c'(X'X)^{-1}c}} \sim t_{n-k}$$

$$1 \times (k-1) \quad R \quad \frac{c'b - (c'S)_{H_0}}{\sqrt{S^2 c'(x'x)^{-1}c}} \sim t_{n-k}$$

S₁ = 0 .1

S₂ = S₃ .2

S₂ + S₃ = 1 .3

2S₂ + 5S₃ = 10 .4

:95% , .2

$$c'b \pm t_{n-k, \frac{\alpha}{2}} \cdot \sqrt{S^2 c'(X'X)^{-1}c}$$

2S₂ + 5S₃ .3 S₂ - S₃ .2 S₁ .1

. X₂ = 10 X₃ = 9 Y .3

(X₀) $\hat{Y} \pm t_{n-k, \frac{\alpha}{2}} \sqrt{S^2 X_0(X'X)^{-1}X_0'}$

. X₃ = \bar{X}_3 - X₂ = \bar{X}_2 Y - .4

$$\hat{Y} \pm t_{n-k, \frac{\alpha}{2}} \sqrt{S^2 (1 + X_0(X'X)^{-1}X_0')}$$

: 0.05 " F .5

$$\frac{(Rb - r)'[R(X'X)^{-1}R']^{-1}(Rb - r)/m}{e'e/(n - k)} \sim F_{m, n-k}$$

$S_1 = 0$.1

$S_1 = 0$ and $S_2 = S_3$.2

$S_2 = S_3 = 0$.3

$\frac{R^2/(k - 1)}{(1 - R^2)/(n - k)} \sim F_{k-1, n-k}$ 0.05 " .6

2

24 , 3

$$\begin{pmatrix} S_0 \\ S_1 \\ S_2 \\ S_3 \end{pmatrix} \cdot (\quad)$$

$\Sigma y^2 = 60$ $\Sigma x_1^2 = 10$ $\Sigma x_2^2 = 30$ $\Sigma x_3^2 = 20$ $\Sigma yx_1 = 7$

$\Sigma yx_2 = -7$ $\Sigma yx_3 = -26$ $\Sigma x_1 x_2 = 10$ $\Sigma x_1 x_3 = 5$ $\Sigma x_2 x_3 = 15$

: ()

1. $H_0 : S_1 = 1, S_2 = 1, S_3 = -2$

2. $H_0 : S_1 + S_2 + S_3 = 0$

3. $H_0 : S_1 + S_2 + S_3 = 1$

4. $H_0 : S_1 = 0$

5. $H_0 : S_1 = S_2 = 0$

6. $H_0 : S_1 = S_2 = S_3 = 0$